SAP ABAP table ICL. PAYEE {Additional Payee with Tax Role}

BUTO000

—_

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

7 ’ ICL PAYEE-CLAIM = ICLCLAIM-CLAIM 0N

—_

ICLCLAIM
CLIENT [CLNT (3)]
ACTIVE [CHAR (1)]
CLAIM [CHAR (17)]

ICLPAY

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

SUBCLAIM [CHAR (3)]

PAYMENT [NUMC (5)]

ICLSUBCL

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

SUBCLAIM [CHAR (3)]

________ ICL PAYEE-ROLE = TICL301-ROLE ~ 0-N [MANDT [CLNT (3)]
I TICL301
ICL PAYEE-TAXROLE = TICL550-TAXROLE 0N [ER TR ]

-
-~ -
-
- -

ICL PAYEE-CHANGEDBY = USR02-BNAME 0..N

P

TOO0O

ROLE [CHAR (4)]

TICL550

CLIENT [CLNT (3)]

TAXROLE [CHAR (4)]

USRO2
MANDT [CLNT (3)]
BNAME [CHAR (12)]




